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1St the diadvantases of tamgontial method
tacheormetric surveying

What s amallactic lens?
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Lo 6 Disenss the substance bar wethol of
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T et ascertain ehe elevation of the tp (Q) of
the sl on a Bl sbscrvations were made from
too dnstrament stations P and 7 4 horsontal
istance 1000m apart, e stations P ad 1 heing in
e wrth @ The anglos of elevation of Q 4t P and &
Were 28 42nd 18 6 respectively. The stall

readings wpon e el mack of covation 247 25

were respeetively 2870 and 3

50 when the
Snstrument was at Pand a8 the teloseope bong
horszontal Determine slevation of the oot of the
signal i the hesght of the igoal above s hase is
im,




[image: image4.jpg]15 b The Sllowine Jevels along the cente line of o roud
e ot a1 ciimages of 100 inervals

Choinagetmy: 2op A0 400 300 60

10
i, the grade to be o straight e, compuc
ot pabable sobues of the lovel at g
Vi, and of the pradient.

or

(1 The tares angles A, B and € of a tstangle ABC e
o S S B 2 and 0 10 26,07, with
i of 1, 2 and 3 vespeetively. Derermine the
o prohable vabues of A, Band ¢

Wh2e W0 1L 11

1 G0 Find the bour angle nd do
the il da
Lot of place = 48" 50N
St of st = 507 W
Alttude of s = 25 24
or

Nination of & star from

@) Fand the aneuth o
Aol datn

st of o star fow e

Declnation of sar

o ang

Lt of the ahsesven
15 G Discuss the varions
g by solving thre

o

T
point problem.

e de
o Blecenumagetie disane measremens (6
Gt Parallos in stereoseopic view ®

e ot on the o,





